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Hourly Examination Two Answers
1.a. P(wild pink)= 50/200

1.b. P(healthy and hatchery pink) = 58/200

1.c. P(hatchery or wild pink) = 200/200

1.d. P(wild pink given it is healthy) = 35/93

1.e. P(hatchery pink given it is healthy) = 58/93

1.f. Probabilities in parts d & e sum to 1.0 because a healthy pink MUST

     be either wild or from a hatchery.

2.a. P(yes and female) = 19/100

2.b. P(yes or female) = 94/100

2.c. No, both events may occur simultaneously.

2.d. If they are independent, the P(female and yes) must equal P(Y)*P(F).

     The P(Y)*P(F) = 33/100 * 80/100 = .264

     From the information we are given, we know that the P(Y and F) =

     19/100. Thus, we conclude the two events are NOT independent.

3.a. Binomial with n = 15 and p = .65

     P(x=8) = .13193

3.b. Geometric

     P(x=5) = .00975

3.c. mean = np = 9.75     standard deviation = 1.8473

4.a. Poisson with u = 2

     P(x=0) = .13534

4.b. P(x >=1) = .86466

5.   x    P(x)

     -   -----

     0   .0144

     1   .2122

     2   .7744

         -----

        1.0000

6.   We are given: P(flu|exposed) = .85 and P(exposed) = .55

6.a. P(exposed and flu) = .55*.85 = .4675

6.b. P(not exposed) = 1 - P(exposed) = 1 - .55 = .45

6.c. P(not flu | exposed) = 1 - P(flu|exposed) = 1 - .85 = .15

     OR, can also calculate as:

     Observe that, P(exposed) = P(flu and exposed)+P(not flu and exposed)

                       .55 = .4675 + P(not flu and exposed)

     so, P(not flu and exposed) = .0825. Now, we also observe that,

     P(not flu|exposed) = P(not flu and exposed)/ P(exposed)

                        = .0825/.55 = .15

